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Judge’s Detail per Skater — Short Program / A5 X B F

Rank B#FH_ MR BEIR Seg.rrnoetrz:tI EIeTmt:-;t:{ Pro;::rar: DeductTig:lasl
Score Score Component
Score (factored)
1 8m R KX =R—rh 2 34.22 16.97 18.25 1.00
# Executed Info Base GOE J1 J2 J3 Ja J5 Ref Scores of
Elements Value Panel
1 3S<+COMBO < 3.44 -1.72 -5 -5 -5 -5 -5 1.72
2 2A 3.30 -0.11 -2 -1 0 0 0 3.19
3 FSSp2 2.30 0.15 2 -1 0 1 1 245
4 CCSp2 2.30 0.08 -1 0 0 1 1 2.38
5 2F 198 X 0.06 0 -1 1 0 1 2.04
6 CCoSp2 2.50 -0.08 -1 -1 2 1 -1 242
7 StSq2 2.60 0.17 1 1 1 0 0 277
18.42 16.97
Program Components Factor
Skating Skills 1.00 375 425 400 325 350 3.75
Transitions 1.00 350 400 350 300 3.00 3.33
Performance 1.00 350 425 400 325 325 3.58
Composition 1.00 375 4.00 375 325 350 3.67
Interpretation of the Music 1.00 375 400 400 400 375 3.92
Judges Total Program Components Score (factored) 18.25
Deductions: BRfEl: -1.00 (1) -1.00
<=Under-rotated jump X=Credit highlight distribution, base value multiplied by 1.1
Rank B#FH_ MR BEIR Seg.rrnoetrz:tI EIeTmt:-;t:{ Pro;::rar: DeductTig:lasl
Score Score Component
Score (factored)
2 HAEAL REH AN 1 26.62 11.88 16.74 2.00
# Executed Info Base GOE J1 J2 J3 Ja J5 Ref Scores of
Elements Value Panel
1 3SKL+2T KL 2.60 -0.65 -5 -5 -4 -5 -5 1.95
2 CCSpB 1.70 -0.06 -2 -1 -1 1 1 1.64
3 2N < 264 -1.32 -5 -5 -5 -5 -5 1.32
4 FSSp2 2.30 0.08 0 0 0 1 1 2.38
5 2FeKX e 044 X -0.20 -5 -5 -5 -5 -5 0.24
6 StSq2 2.60 0.00 -1 0 0 0 0 2.60
7 CCoSp2v 1.88 -0.13 -1 -1 0 1 -1 1.75
14.16 11.88
Program Components Factor
Skating Skills 1.00 375 350 350 325 375 3.58
Transitions 1.00 325 325 325 300 325 3.25
Performance 1.00 350 3.00 350 300 350 3.33
Composition 1.00 350 325 325 300 325 3.25
Interpretation of the Music 1.00 350 325 325 300 350 3.33
Judges Total Program Components Score (factored) 16.74
Deductions: SEBEFRE: -1.00 BRfE: -1.00 (1) -2.00

<=Under-rotated jump <<=Downgraded jump X=Credit highlight distribution, base value multiplied by 1.1 e=Wrong edge
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